
CHAPTER 1
SAMPLING  DISTRIBUTIONS



§1.1 SAMPLING  
 : The totality of elements which are 

under discussion and about which information
is desired is called the .target population
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
20-year-old males in the US

target population


some large city we sampled

sample population

Goal : Study the religious habits of 20-year-old males in the US.



 

       
1

1

1

1

1 1 2











 

 : Let  be a random sample from 
a population with a density . The distribution of
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 : The definition of random sampling 
here has ruled out sampling from a finite population 
without replacement, since then, the results of 
drawings are not independent. 
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but the parameter  is unknown. Let  be a 
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function will be the best one to estimate . 
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§1.2 SAMPLE MEAN
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§1.3 SAMPLING FROM THE NORMAL DISTRIBUTION
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§1.4 ORDER STATISTICS

1.4.1  DEFINITIONS AND DISTRIBUTIONS
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1.4.2  ASYMPTOTIC DISTRIBUTIONS  
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